PROFESSIONAL EXAMINATION

BOARD
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Topic:- General Hindi

1) 39 a1y A fras) uRuia fear mar g2

<z fpdt i, are, gfda, Feraq, deifa anfe & orf #) fawar  wga frar srar 217
1. RAT

2. (€Y

3. Hrard

4, Ycoid-

Correct Answer :-

2) <319 Hg it firgs a9 39 geTay &1 a8t o qanaie
1. W9 3MTYDI URET BHRAT|

2. 9T 3T YR AT

3. QORI 1 URIET AT

4. QORI P TR H=AT

Correct Answer :-

. U U YR HAT

3) ‘galy T REH T I ATE:
1. 3SY

2. oY

3. eIy



4, Sy

Correct Answer :-

4) Ist FRIfEar vga=Ar 39 gerar &1 et o Farsn?
1. @ ! §1d Todleh ¥ S oI

2. Y5 &1 §1d U 9 Sf o T

3. 38 D1 91 gX A S o1

4. YERI 1 91d g U o &1

Correct Answer :-
« {1 G Y S T
5) I D! I A I° 3 19T BT Y5 U T g2
1. 39 3% T ferd |
2. 3G 3% T forn|
3. I 3 T ford |
4, 39 3! Uf ferd |
Correct Answer :-

. JGH 3D T ford |

6) I AW BT G ¥ I’ IR BT [ &9 FT GRI?
1. 9 HdIY & I fer

2. 3G Iy DI i ferg|

3. 3T IaN &I iy fag |

4, 3T TN BT GG A

Correct Answer :-

. 3G HIY BT G |

7) U3 954 M5 ATt § I° AT BT Y[ U T §HIT?
1. T3 X IR 3MH=< AT 5|

2. 89 §gd < 31 B



3. 43 9gd 1< 3MMd 3|

4. 431 95 31 318 |

Correct Answer :-

. T3 95 3< 3MaT B

8) “3Ixeter PT Iy Weg BT AT R:
1. Afd®

2. Rl

3. QA

4. itd

Correct Answer :-

9) Hifgar dair uleT wal @ ye1lRE gdt 22
1. YioTd
2. 34t

3. Hisdl
4, I

Correct Answer :-

10) ¥ Iuwf @ w1 T FT AT R?
1. FRI6R

2. fRBR

3. fre=H

4,

Correct Answer :-

11) AN Hifaer TRHTR® 2reg fora &1 & diar siar @2

1. URIMA



2. fagm
3. fRren
4. gIforeg

Correct Answer :-

12) FafafEa dfeaal o o ar seer 32
AT ST DR, BT B PR,
TA-Fd g7 R, F1feg g9t R

1. SR SAddR

2. JHMNGT DR

3. 3fifad 3B R

4. IpIfad AABR

Correct Answer :-

13) FoafafEq iR A P TTo< 8

oft I g UG WSTHA, BT HT HI GO |
DS A ol G B, Bl UG H-oITeUH ||
Hed FToTa Siffra B9 71a, e FRe gevu |
vt uFg afsd R gfy, Fif w9 garay |
1. gRafifae &<

2. IS BC

3. AT BG

4, TiifcrhT ©g

Correct Answer :-

. shofifde o<

14) FEfafaa iR A AT s< 3

¥ O gt ue faw afsr, afer e wnfa = feg
FIed YT & B DI, 3N T B a9 fag 11



1. gRefifddr B
2. ST <
3. AT BG

4, TiifcihT &g

Correct Answer :-

. I G

15) Fafafed dfema & ffea sier o1 a9 Tarsn:
DI R WR?

T gl

FIT AR HT S TE12

1. A=A bR

2. U SADhR

3. AN DR

4. Ihifad ABR

Correct Answer :-

« Ihifad ABR

16) STeol 3R Side’ o1 AT 34 §;

1. A AR HaH

2. A 3R dIed

3. U 3R Fer
4. TGS 3R TG

Correct Answer :-

. HUA AR e

17) ATYRYT 91F A GG a1 S130T:
PG ATHR T TS 1

1. PG MTd &1 it T3 |

2. 318 YT 3R T TS|

3. T TS R Tl TS|



4. g Il T8 3R A |
Correct Answer :-

. PG 37 3R Tl T |

18) “HYE’ BT UGTATH! g T §HM?
1. 3faq

2. qHIA™

3. gPhd
4, U

Correct Answer :-

19) AERAID’ UFABT Hgl & U gidl 82
1. UioTd

2. 9T

3. DUl

4. PTHER

Correct Answer :-

20) T TR eq fohw & W dtar wrar 82
1. TR

2. faqH

3. TRrafm

4. IOy

Correct Answer :-

. TRrem

21) Har 3R Far H1FT A §:
1. U &1 A1YUTE 3R YH

2. T $1 AUTS 3R Yo 1 gl



3. Uh BT AIYTS 3R Y& & fhIRT
4. & 1 AIUTS 3R G5

Correct Answer :-

. TS BT IIUTS AR g B gal

22) HEYUP HId THY AT 3@ 9118 ¢ b
1. 91 30 Tsql § g1 faa S|

2. ) 3 H g fparr o |

3. I R & Wsal | g e I |

4. 91 9gd sal H &1 fovarr S |

Correct Answer :-

. 91 30 Xsc] | B fopaT oA |

23) ‘“YHED DT UGTIAT= Usg AT g2
1. U

2. 3fTRad

3. Afga

4. {qHMI

Correct Answer :-

24) <3P’ B WSI Felt B R P 32
1. PRI BT

2. S{h el

3. S R

4. 3TSTS A

Correct Answer :-

. sigha @

25) U Bt TSI qieit § FT Hgd 82
1. Fore oM R femr g1



2. forgeT O WR1 8
3. 9w Ue g1 8
4. S UISH ¥ SRIGE &1

Correct Answer :-

. fo &1 U Wi

26) “g1-a=’ G¥H BT -ITH qarsn
1. o g

2. IToad gH

3. A FRY® gm

4. gatg gm

Correct Answer :-

27) T HETaR PT TGN B

STPAGH__ BITTE

1. 9gd§8

2. 3fad] o GRAA

3. 98 HEH

4. ST gREA

Correct Answer :-

. 3fadl o GRAT

28) HAYUIH T YRT &9 3@ A1i3¢
1. TRITRAT 3R BTG

2. ARART 3R YEAEG ]

3, ARARAT 3R Iudsdl

4. ITHIAT 3R Y@TEG

Correct Answer :-

. IRV 3R RSl



29) iy 9T Y ATYRYT IR § Fgal:

it safet o= & g R firear 3, a8t W= ax1 W T B |
1. T2 & fore IR e ara fad T <21 Had BT 8 |

2. 331 % for TR fires arel e} = 3= Had eI B

3. 32 & forg wR five) aren safe ream <= Had BT B

4. 3 % g MR iy a1 fad = 39 Yo ST 2|

Correct Answer :-

. X% fore IR e aran safad e 3= Yo BT B
30) ‘g BT T Y B:

1. STGId, U4, YeT

2. BT, AT, IST gUTST

3. STcd, O, foRaRT g

4. e, T, 1 g

Correct Answer :-
. ST, O, FST g
31) HYTd I B WA IR | FEal:
«JfAfY ML R HRIHH IR= garmI”
1. S Y AT S i H Y& gl
2. 3MfAf & 3f1d BT HrichH L= gl
3. AT & T & WY B HRIHH Y& gl
4.1 ATy M HTdHH = g3l

Correct Answer :-

. IR P M1 T HRIHH = g

32) TR B U qTAr H B AT TN 82
1. FHYRY JAN

2. fgr9am g

3. Sgsilfe 99

4, TS JA



Correct Answer :-
o d>Y IHN
33) Ogl fawed gA:

g IR 3ISH B5 ¢ | P fauw TRon & 15-15 MR JH =R A 13-13 AT il 8, P 9H
WU A glaT 8 :

1. Rt B
2. Il 9<
3. A1 Bg

4, TiifdeT Ba

Correct Answer :-
. I BG
34) OEl o gA:
iR fa-afer oY, Ary-ary g ¥gd
YT T gIY-3id, HEd
1. gRINTAPT B¢
2. I BG
3. AT 8G
4, Mifdd1 B¢

Correct Answer :-
. Tfifderdg
35) gl faweq A

98 I forad IR UG WU 81 94T Id Ug 3R S¥R Ug W SUHM-SUHY 3yaT faRivvr-fazisy
BT TS B, T8 Heard gl

1. FHYRY I
2. 3(egdt HId TH™
3. fgy oam

4, Iy JHH
Correct Answer :-

. HHYRY AT



36) Og! fawey gHw:

o TN FTIWUG UUTH B IR EUS MUrgisy  ded 3l
1. FHYRY U

2. 37Ul HTd JHTY

3. fg wam

4, TSY T

Correct Answer :-

37) W8l fawey gamsh

Yo a1y saf-dda §

1. TS 37Ot IOt o) eI § Hobdll BT SRUN 3l 3|
2. T 301 3=t bt WeTadT ¥ Wabdl! BT SRUT el 3|

3. TS 30T It &1 WeTadT ¥ Hdhd! T SR Bl ¢ |
4, TIST 3Ot 4Ol 1 TRTI ¥ Hdhdll BT SR BT ¢ |

Correct Answer :-

. FIS U ATt ot HETAdl ¥ Hebdl T SR Bl 5|
38) Wg! fawey Famsit:

?ﬂwﬁﬁmwmmaﬁ?ﬁﬁmaﬁﬁgﬁméﬁﬁw Fed
|

1. BTG [T Y
2. 3T Yeq Ufad
3, oI Veg Wfad

4. A&UT Reg fad

Correct Answer :-

« 3T Teg Rfad

39) gl fAdey garsn:
HTYT ATefe5e Tobd & I’ Trefede 4 dread @



1. G1d STd AR godTs T
2. 3T A ael TS

3. 3D

4. Uf=5h

Correct Answer :-

40) I8! fawea garen:

YTYT HHdTeHD § SIH ot eafat S gielt 8 a:
1. AT ST AT SUIDbID i & |

2. T G dTAD a1 Ul il 6|

3. @Al YhaTdd AT Ui il ¢ |

4, @AY YbdIAD I TBTHD Bl & |

Correct Answer :-

. Gl HhdieTd T YbIED giah g |

41) gl faweq Farsn:

¥ fafRry o ot ueitel & wreaw & welifa gi<dt 31

1. STRYG &1

2. ST eg; Al

3. &0 Toq QTR

4. oI Yeg VTR

Correct Answer :-
- T&IUT Weg Yfekd
42) Og faswey gamait:
Ao eray g gl
1. ST Weg RAfeRT
2. AABRI
3. TH&IU Toq TR
4, o Yeg QTR



Correct Answer :-
. oI g ferd
43) g1 fawey sarsit:
I TH-Ofl sARd A afts, @1
1. S 370 H §Td el
2. SN §gd Sl Bl §
3. Il ST ¥ STd Heht
4. Sl STHHH db STt

Correct Answer :-

o ST S ¥ ST Hal

44) TSI 3R AFeTe BT 3 Taran:
1. T 71 3R &9

2. T I 3R Hafar

3. TG 31R &

4. 99 STe 3R Hafar

Correct Answer :-

« T4 3R &

45) IR &1 Iy fade wT e?
1. AeH+sar

2. HE+3Y

3. HE+39

4, AT+

Correct Answer :-

. TEHEN

46) HIST 3R HFer &7 3 Faran:
1. BT 3R A

2. HHA 3R AT



3. B9 3R AG

4. BT 3R A4

Correct Answer :-

. P 3R AT

47) HauA RIS Teg f &= o diar s 32
1. UM

2. faH

3. TRrafm

4. 91Oy

Correct Answer :-

48) ‘GAl-Fel I BT A9 FaAT30):
1. fadim gm

2. GTodd TH

3. e R gm

4, T g

Correct Answer :-

49) 39 UL DI YA A U 3T = f3T 7T [ &1 IR <

Uit fore! gerur
TS &1 i 4 7Et =aran
S et oft Sis =T,
<t anft oft faaf@ang
Hid & o 7 R

IR & T A foad

9 # dTgd TR |

HTH H S edT |



TY: 39 B ¥ far oft @ F-319 | fAvant 3w % I oM 32
1. 39 Hreoier o e oft ot forenfeedt, Tpfd, sergd, aur e o WrvmE IR &R e 3 g |

2. 39 1<  forar Sft ot forarfeeh, whfd, sergt Fafa T, & fiear qur Rezar S w@umE
IR P I 3 B

3. ?ﬁ?mﬁﬁmsﬁﬁmﬁ?ﬁ,ﬁﬁqwm,ao‘ﬁaﬁamawﬁméﬁwmammw
|

4. 39 BT H fUar ot &1 g TgHTg, HH Hedr auT Fexdr S WHI SHR B IHA 3 g

Correct Answer :-

. S SR ¥ fUar ot &t Srarfeedt, Wi, Te1gd g wuma, o <iterdr aur Fevdr o) |ya
IR B G 3 &

50) 39 U H YU A U 3R - AT 7T u=[ &7 Iqar 3

fUrareht forme! gerar
TS &1 B Wt =Tl =
St 3t ft s g,
<t oY off feafaeme
Hid & o 7 Rud

W & Mt A faad

dIeT # ST TR |

HTH | ST AT |

Y U & A A F9d’ & areaw A i 791 B ATgan 82

1. Hfd HE1 ATE1 § b 3l Sfd eH § S o 4 ff v Tel 5l
2. Hfd Hg1 A8l § o af Sidd Aew § S 9 &1 HT 4a T8 5|
3. B3 BT TTEdT ¢ b I 31 TTeHl € I Jog BT 4T B

4. By B IEdT & P af 3d FTR 8 I8 g &1 1 B

Correct Answer :-

. B3 BT ITEaT & [P aY 31 At 8 S g &1t g T81 8|

51) CANCELLED

caudea ko RS



1. BT, bl & G, §RT

2. HIQT, D! & G, & Al BT 9T
3. STdl, bl b G, o

4. BT, Gdeh! &b Y, T

Correct Answer :-
« DI, Gaohi &b T, §RT
52) W&l fawed qarsi:
I 3T A 8 o foeft @ 09 3 919 H= @, O gwsn |
1. IS T & ST
2. AT TN-TGAT 918 S|
3. JacI-Hiel 771 §8 S|
4. et i 98 |

Correct Answer :-

. I TR 98 94|

Correct Answer :-
54) JTYRYI 1 H Ay grog A Iga:
“FTacidl TR HeT g@I @ g 17
1. Sl Al W@raee d 5, d 9&1 gEI 38d g |
2. WTacis Afd TeT gt 8 %8 B
3. WTaCS Tl e Gt B B
4. o WIadeT Hal g&i | 5|



Correct Answer :-

. S fed Wraeist 81 &, d JaT g9l Bd & |
55) e areiw & e ue 2reg wanait:

T & FHIY 3§ arelt DI~

1. St

2. 3f=ardt

3. 3fqarait

4. 3farat

Correct Answer :-

56) 9 aTeUY & T U W garai:
“HTHTT @A A qra|”

1. SO

2. gt

3. 3ol

4. 3TqTT

Correct Answer :-

57) 39 U &1 YU A UE 3R - fAu 7T uxE &1 Iqew 3

fUrarsit foe! gerur
TS &1 B Wt =1El s
it anft oft s o,
<t anaft oft Raf@ers
Hid & o 7 Rud

IR & Mt A faad

§ie H STge TR |
HTH | ST AT |



UY: ‘BTH A ST aReiar | $fA &1 1 areud 82
1. B3 HT AT & 3 9 5R Ua Gt W @A B

2. HAFAUI e P AR PA Gl A IR Ad & |

3. Hfd BT ard § 76 a1 g1 ord Bl T B &

4. FAP A G P AR IA PRI IR A

Correct Answer :-

. FRF IS F AR FA G IR ATF]
58) gl faweq garan:

&R P TGAT, T H, AT TUMET 94T IfA-TTTd A T falRy Faai d v weren
sG]

1.9
2. 3ADR
3. DI — T[0T

4. 34

Correct Answer :-

59) gl faped gA:
) TR g1 39Ul HeT T B
1. A% X9

2. O™

3. TR

4, AR Y

Correct Answer :-

60) el fawew gie:
ifecd & uRreg =t 36 # Sif<d 9 AT SIaT 21
1. %39



2. I ™
3. R
4, R

Correct Answer :-

o XAXYH

61) W&l faped gH:
BT R YTg 7, ATa1-far &1 e Tl i) Aafife g
1. I I
2. BRI ™
3. TR
4. ARG

Correct Answer :-
e diHYIH
62) fy fofaa ufai A P I3 32

"Hed 81 319 A 99 TP g1 3R
1Y Y TH I Fed ST B RRAR|

1. AT X9
2. A ™
3. Yfda |
4. ARG

Correct Answer :-
. YA
63) fu @ iR A P I 82

Tqd 3 ST gE@ |
3P 3ufe wir e Yra, v 3 e

1. A5
2. AT
3. R ™
4. ARG



Correct Answer :-
. T
64) Y T B! A I U¢ 3R T T Me 7 F13wR &

WX IR # W AfTs $T 919 BT 31 39P [T TS &) AFfS ¥ I iR IR-Re w0 A
ST 8 TR A WY BT TR | W ARSI 81 W08 JHTS &1 o &l 8| 7™ @1 Y I
5 WISl B 579 3l 81 SHPT 3R Pad AfR faW W § 781 a1 G, 321, Wi, 99 R qUH
Y A Usd g 3R 39F e agsy &1 guiaar st faryRT & fawfia &A1 g qRiT wiuRme
Td F¢dl BT IR $IP T8 [APTH Ugfd B &9 41 ghm|

WY WO AfeTss & fore o g1 Siaxa® 82

1. W §&T & o Ty TR BT SHaRah B |

2. W AT & folt Wy IRR BT 31awaas g |
3. W KT & oUWy IR g1 3Haaa® 3|
4, TR AR & AT SRaR] TRR BT SIS g |

Correct Answer :-

. W AR &b T W TR g 31w B

65) 39 e &1 A9 I Ue 3R 9 T me = F13wR &

W IR § W AFETsH $T 99 g1 ¢ 1 §HS ¢ A7 &) aFRS FU F iR RIS S0 &
SHI 8 PR A W ST AT | T ARGl 81 W00 GHIS B 5+ ¢dl 8 | I & s I"
% Wieil B 9 3l 31 3TPT SRR Pad e ORI W g 78 a1 JuIe, 3, wife, I9 WR qUH
T USdl § 3R 39% foe ugsr &1 yoiaar s faareyrT &1 fasfa o1 s R wuRTe
Td &Il &1 ®@RT HRP -5 [ABTH UG B 7 ST gHT|

e U e 31 Sfua v fefau)
1. WY ARl

2. W YR T

3. WY HH™ATD T

4. AR HFRYD T

Correct Answer :-

. O AFERGT

66) 9 eI ®! A I U¢ 3T 1 iAW M0 gy +13IeR &



W IR H WY AiTss ST 99 g1 81 39 fog a9 & a-ie ¥U ¥ 8k IRie ©u ¥
SHI 8 PR A W ST AT | T AHRIFGAT 81 W03 U B o+ ¢dl 8 | I & s I
% Weil @ 97 3l 31 3TPT 3R Pad Afed AR W & 78 a1 JuIe, 3, wfel, J9 W) quH
T USdl g 3R 39% fow ugsy &) yoiaar s fareyrt &) faefRa o1 g R wuRTe
Tq Ffedl &1 ©@RT HRP -5 [ABTH UGid &I 7 1 gHT|

Y: I 3R W o1 iy v fafae:
1. 3G R D

2. 3G SR TaT

3. IS 3R Y

4. fagrg iR srya<s

Correct Answer :-

. I AR RIS

67) 39 el B &9 A U¢ 3T - few e umq #13wR &

W IRR T W AfeTss &1 99 gl 81 39% T 99w &t aFRie 0 ¥ 3R INiRe =0 J
SHI 8 PR A WY ST AT | T ARGl 81 W00 GHIS B 7+ ¢dl 8 | I & S I
€ Wieil B 979 3l &1 SHBT 3R Pad oafad faRy W & 7Y v JHI™, 3, oifd, 99 W) G0
T USdl § 3R 39% fe ugsy &1 yoiaar s faareyrT &1 fasfa o1 g R wuRTe
Td &Il &1 ®RT HRb -5 [ABTH UG B 7 1 gH|

T ST TR BT AR faf@e|

1. W] AHRIG AT 3RT=3 JHIS, 715 T B ol -1 & | SHBT YHTT fed &b T1Y-T1Y JHTS, S 3R Sifa
R USdI g1 39 N afed BT Ffedl T YR B 30U GhRIHD I BT I RId BT IR T

2. TR HHRIH T T AT, 78 U1 1 1 & | 3BT UHIT Al P JTY-T1Y JHTS, <27 3R U
R USdl gl 39 forg sufad & wfeal o1 URATT B 30T THRIAS T & [awRid H3-1 I1ey|

3, W AR T W08 JHIS, T3 A1 D1 o1 g | SHBT YHTd T o JTY-TTY JHIS, S 3R S
R USAI 8| 39 T safdd o) Sieal o7 URTNT B 310 IHRIHS Ard B I RId 1 TR T

4. TR AHRIG AT TS FH, U T 1 ST 8 | 90T UHTT Safad & Ty -1y T, 32 3R
ST TR USdl 8| 9P T ufad &Y ieal o1 URANT B 30T HRIHD T B §¢ BT AT

Correct Answer :-

. WG AFRIGI W3 AT, T8 T B o1 & | SHhT UHTd Sfad P JTY-T1Y JATS, ST 3R Sifd
RS 8 39 N Safdd o) Tieal o1 URANT B 310 IHRIAS Trd B! I RId 1 TR T

68) 3T I &I A I U¢ 3R 9 T ML 7 F13wR &:

W IRR T W AfeTss &1 99 gl 81 9% T 99w &t aFRie 0 ¥ 3R INiRe =0 J
SHI 8 PR A TR T AT | T ARSI §1 W00 GHIS B o+ ¢dl 8 | I & s I"



3 WISl I o1 Sol 81 SIPT 3R Had i AT W g 781 av JH, S0, Ifd, I R JHH
T USdl § 3R 39% fe ugsy &1 yuiaar s farerT &) faefRa o1 g R wuRTe
Td Tl BT IR $IP -5 [AHTH Ugfd B S ST gRT|

WY W TR § fpaeT ay gar @2
1. W ORTSH HT I gIaT 5 |

2. T TRETH BT AN gl B

3. TR U T I gl 3|

4, 3R KT BT I el B

Correct Answer :-

. W AT BT I G 3|

69) 3T U B! A | U 3R 1 faW 71T u=[ &1 Iqe <:
fUarsit fo®! gerur

TS &1 B Wt =TEl aran

it anft oft Qs o,

it anaft oft Raf@ery

Hid & o 7 Rud

W & M 7 famd

9 | d1ed TR |

PTH | ST AT |

wy: fOrar oft & Jielt &t 7 fawan 82
1. fOdT St &1 el STEd BT oA ol & |
2. TOaT St &1 Siett STed BT doi o B
3. fOaT St &1 Sl ST &1 o o B
4. foran <t &% Sieft R B AT SR B

Correct Answer :-

- TOaT St 1 aiiefl STad Bt ol o B

70) SH T $I F A U¢ 3R - o T Y= H+13«R &



fUrarsht foe! gerar
TS &1 i 4t TET aaman
St 3t it s =g,
<t anft oft faafaang
oWd & A 7 fFad

I & T A foad

§ie H 91ge TR |

HTH A e e |

Y: 59 ST &1 Auw fafau|
1. foar sit

2. IS

3. gerr

4. =

Correct Answer :-

. foarsi

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

The discounted priceis 24 hours only.
1.in

2. for

3. from

4. during

Correct Answer :-

o for

2) Choose the appropriate preposition for the given sentence:

The sale will last 7 days only.

1.in



2. for
3.0n

4. during

Correct Answer :-

o for

3) Choose the appropriate preposition for the given sentence:

There is a heavy demand _______ these goods.
1. on
2.1in
3. for

4. between

Correct Answer :-
o for

4) Choose the appropriate prepositions for the given sentence:

Thecatjumped ___ theroom _____ the window and drank the milk.
1. at, by

2. into, through

3. from, across

4. in, to

Correct Answer :-

* into, through

5) Choose the appropriate articles for the given sentence:

Baskets made by Naga women of Imphal are beautiful and sold all over _____ world.
1. a, the

2. the, the

3. an, the

4. an, a



Correct Answer :-

e the, the

6) Choose the appropriate articles for the given sentence:

Keeping pet can increase person's emotional well-being.

1. the, a
2.3,a
3. the, the

4, a, an

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

You need to make _______ conscious effort to move away from ____ past.
1. a, the

2. an, an

3. the, the

4. an, a

Correct Answer :-

8) Choose the correct form of verb for the given sentence:

People who have very little technical background have to understand the Cobol computer
language.

1. learns
2. learned
3. learn

4. learning

Correct Answer :-

e learned



9) Choose the correct form of verb for the given sentence:

She said that she _____ the opportunity to show that she could play a serious film role.
1. greeted

2. welcomed

3. cheered

4. rejoiced

Correct Answer :-
e welcomed

10) Choose the correct form of modal auxiliary verb for the given sentence:

We've finished our work fortoday. __ we leave now?
1. Must

2. May

3. Needn’t

4, Should

Correct Answer :-

11) Choose the correct form of adverb for the given sentence:

Iseethings___ now.
1. greatly

2. difficultly

3. differently

4. uniquely

Correct Answer :-

 differently

12) Choose the correct form of adverb for the given sentence:

The flower arrangements at the party had been done most

1. dramatically



2. demandingly
3. decently

4. beautifully

Correct Answer :-
e beautifully

13) Choose the correct form of adjective for the given sentence:

Ranjan would like to go to unexplored places; heisavery ______ person.
1. sickly

2. able

3. powerful

4. adventurous

Correct Answer :-
e adventurous

14) Choose the correct form of adjective for the given sentence:

Hedieda_____ death
1. magnificent

2. glorious

3. superficial

4. great

Correct Answer :-
» glorious

15) Choose the correct form of expression to complete the sentence:

These windows are made of
1. glass

2. panes

3. panes of glass

4. glasses



Correct Answer :-

16) Choose the correct form of expression to complete the sentence:

His success has been beyond my
1. inclination

2. estimation

3. anticipation

4. expectation

Correct Answer :-

e expectation

17) Choose the correct form of tense for the given sentence:

Thisbook __ toher.
1. has belonged

2. belongs

3. is belonging

4. belong

Correct Answer :-

18) Choose the correct form of tense for the given sentence:

The butcher cut his hand while he ___ meat.
1. chops

2. had been chopping

3. was chopping

4. has chopped

Correct Answer :-

e was chopping



19) Choose the correct form of tense for the given sentence:
Can | have a drink before | to bed?

1. go

2. will have gone

3. will go

4. am going

Correct Answer :-

20) Choose the most suitable determiner for the given sentence:

The police are looking for ___ evidence to prosecute him.
1. little

2. more

3.no

4. much

Correct Answer :-

21) Choose the most suitable determiner for the given sentence:

people are never happy whatever you do for them.
1. All
2. Some
3. Every

4. Each

Correct Answer :-

22) Choose the best sentence starter from the given options:

He failed in his attempt. It was unfortunate.

1. Although



2. Unfortunately
3. Dueto

4. Fortunately

Correct Answer :-

¢ Unfortunately

23) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait

Question: The meaning of the underlined word ‘prototype’ in the fifth paragraph is:

1. Redesigned machinery



2. Specimen copies
3. Working model

4. Experimental design

Correct Answer :-

» Working model

24) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!

Question: Which of the following statement is true about the passage?

1. Soon these super cute robots would replace delivery boys within a year.



2. Customers need the company’s special code if they want to access their food.
3. The DRU can carry only pies that remain piping hot.

4. The robot delivered its first pizza to some lucky residents in Queensland and New Zealand.

Correct Answer :-

» Customers need the company’s special code if they want to access their food.

25) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!

Question: Which one of the features is NOT what the DRU has?

1. It is equipped with Google Maps and GPS-guidance systems



2. It is weather and waterproof body
3. The robot is able to detect and avoid obstacles using latest sensors

4. It can travel 12-miles and back, before running the risk of a battery recharge

Correct Answer :-

» The robot is able to detect and avoid obstacles using latest sensors

26) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!

Question: The last line of the passage, ‘We for one cannot wait!’ implies:

1. We cannot be kept waiting for more such robots!



2. We are not the ones to wait for such inventions!
3. We are impatient and can’t wait for any more of them!

4. Everyone is eagerly waiting to be served by these robots!

Correct Answer :-

» Everyone is eagerly waiting to be served by these robots!

27) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!



Question: The passage could be grouped under the genre:
1. Transport

2. Innovators

3. Food

4. Technology

Correct Answer :-
e Technology

28) Choose the correct form of tense for the given sentence:

I can't begin sewing the dress, until my mother it for me.
1. cuts

2. will be cutting

3. cut

4. has cutting

Correct Answer :-

29) Choose the correct form of adverb for the given sentence:

speaking, the curriculum includes all experiences the student may have within the
environment of the school.

1. Contentedly
2. Broadly
3. Superstitiously

4. Narrowly

Correct Answer :-

e Broadly

30) Choose the appropriate articles for the given sentence:

She went to jeweler’s shop and bought pair of earrings for her daughter.
1. the, a

2.3,a



3. the, the

4. a, an

Correct Answer :-

e the, a

Topic:- General Knowledge

1) Find the missing term in the given matrix./ f3€ §¢ 3iTedg ¥ qw Ug 91d &+ |

! I 1l
4 8 8
8 12 | 16
16 | 18 | 32
8 12 [

1.15

2.20

3.17

4. 16

Correct Answer :-

2) If Saturday falls four days after today, then on which day, the day before
yesterday fall?/ af¢ IER oM< & IR 37 a1¢ 8, a1 did &a & ugd arar &= Fam 32

1. Tuesday/ HIAdR
2. Sunday/ JfddR

3. Friday/ {shdRR
4. Monday/ THaR

Correct Answer :-

« Sunday/ IfdaR

3) Dates of birth of some persons are given below. Find out the date of the

\a/’%ungest person./ $© Afwal & 5+ &1 fafy T & 715 8 99 $u 39 & wfea fafy gra
|



a. 12.08.1968
b. 13.09.1968
C. 19.06.1968
d. 20.02.1968
e. 22.03.1968

™

20.01.1968

g. 20.12.1967
1.b

2.C

3.e
4.9

Correct Answer :-

e b

4) In the following question, select the related letter/word/number from the

%ggn alternatives./ f=fefaa uwa o fow e fawenl # § ST sieR/=re/€B &1
|

Orange : Fruit:: Brinjal:?/ HaRT : Bdl:: 974:?
1. Flower / %d
2. Vegetable/ oot

3. Cucumber/ HHa!
4. Potato/ 3],

Correct Answer :-

« Vegetable/ geoit

5) In the following question, select the related letter/word/number from the

%ggn alternatives./ fA=ffad v § fau v faeeal A Q iR seR/ree/AE &1
|

MO :1315::HJ):?
1. 810

2.1917

3.1618

4, 1816



Correct Answer :-

- 810

6) In the given figure, circles represent students studying three different
subjects. How many students study all the three subjects? /f3U ¢ 3R@ #, gt
T S-S fawa 1 31eaaeT B3 a1at BT Bt g=1tar g1 fvaw o Wt di= faway &1
ST Hd 82

)
(AN

1.4
2.2
3.3

4.1

Correct Answer :-
e« 3

7) DIRECTIONS: Solve the alphanumeric series given below:/ ﬁ%ﬂ: T-ﬁ%?ﬁTré
SERTDIT JoTt B g6 I

AOE, C2G, F6I, H12K,?
1. K22M
2. K20M
3. K18M

4. K16M

Correct Answer :-

« K20M

8) Which of the following is the smallest fraction?/ﬁ'ﬁrﬁﬁmiﬁﬁﬁﬂﬁﬂ
d 82

81471

15, 33, 13, 13

11
1,13



14
4. 33

Correct Answer :-

14
. 33

9) Which figure represents the exact relationship with the variables given in

questions? /®RI 3THfa wy # AT v srqual & Hf¥a ddy #) gxifdt 82

©
Q0 -

Country, State, City/ 331, U, &3

(A)

1.D
2.B
3.C

4. A

Correct Answer :-

- B

10) Arun runs faster than Elias, but not as fast as Dinesh. Dinesh runs faster
than Chander, but not as fast as Bikram. Who runs fastest?/ 3%70I, El%mmaﬁ

T 9 vl ST 8, TR fewr & aw e drsan 81 faawr, uwar i gor # Aw san 8, wg
fpu A a9 81 Srsar 8 | FI9 Ya9 AW Ssdr 82

1. Chander/d—<x
2. Bikram/fa%H
3. Dinesh/laeﬁzl

4. Arun/ 307



Correct Answer :-

. Bikram/ﬁdﬂ

11) Ratio of present age of Rohit to Mohit is 2:3.Rohit will be 20 years old
after 8 years. Then the present age of Mohit is:/ﬂ‘%ﬂ aﬁ'\rqﬁacﬁa?f:rmengm
ST HT: 2:3 31 8 99 a1g fed 20 a9 &1 N wrww, @Y MifRa #Y adur oy fhaet 32

1. 18 years/ 18 a§
2. 16 years/ 16 G
3. 24 years/ 24 ay

4.21 years /21 9§

Correct Answer :-

« 18 years/ 18 ¥

12) The Athakhambe and Chaukhambe of Gyaraspur are the remains of two -

/ TURAR & 3T R 9rEd f5ad ¢ sav g2
1. Universities/ fagfazmeaat

2. Temples/ri%@f

3. None of these/%ﬂﬁ@fﬁ'sc:lﬁ

4. Palaces/ Hegd

Correct Answer :-

« Temples/ A3

13) Who out of the following is known as the Indian “Robin Hood"?/ frrafafea
YR & & frd e g5 & 119 A W1 14T 82

1. Tantya Bhil/ aicar Hia
2. Kajar Singh/ ®oR &g
3. Bhavani Prasad Mishra/ HdTH! O3S 1

4. Tana Bhagat/ dm{T HITd

Correct Answer :-

« Tantya Bhil/ @i Hia

14) Ghughva is the main site of — / YgdT S - I AT I ST THE VI 372



1. Fossil National Park/ SfiarsA (81T I
2. Madhav National Park/ ATed 81 I

3. Van Vihar National Park/ @ fagR I8 3o

4. Satpura National Park/ 9dgsT I§1d e

Correct Answer :-

- Fossil National Park/ SiaT=H IS I

15) If CENPNPIL stands for DOOK, what does FHNPNPCE stand for ?/ gfe
CENPNPIL Wﬂ?ﬂﬁ% DOOK, FHNPNPCE WWWW%’-’

1. FOUR
2. FOOD
3. ROOT
4. GOOD
Correct Answer :-

« GOOD

16) Which clan of Rajputs did Rudra Pratap Singh belong to?/ ﬁ?—ﬁw
g I 5 yary Rig gwfea 42

1. Bundelas/§ad
2. Chandelas/iiiﬁ

3. Paramaras/ UvHR
4, Chalukyas/dTH

Correct Answer :-

. Bundelas/dad

17) Which was the first country to issue paper currency?/ Wﬂﬁ'ﬂﬂ\ﬂ'\ﬁﬂﬂﬁ
TS TYH =T BI-T UT?

1. Japan/ S4=

2. India/ HRd

3. China/ @1

4. USA/ T I1og AR

Correct Answer :-



. China/iﬁ'rr

18) The folk songs of Barsati Barta is popular in the region of - / CEGIGIERG
P M H1H- A & ¥ Aw i 32

1. Malwa/ HIddT
2. Nimar/ 9 S
3. Baghelkhand/ SUc@Us

4. Bundelkhand/ §aade

Correct Answer :-
« Malwa/ HIddl

19) In a certain code, 15789 is written as AXBTC, 2346 is written as MPDU.
How is 23549 written in that code?/ T& fAf3/d ¥e ®, 15789 S AXBTC frar sirar
2, 2346 F MPDU a1 a1 8, 23549 &1 Fe $d forar wram?

1. None of these/%':lﬁ‘@faﬂ’sc:@'
2. MPXDC
3. MPADC

4. MPXDT

Correct Answer :-

« MPXDC

20) Where is the Shaukat Mahal situated?/ &d Agd $gi [T 8?
1. Gwalior/ TaTfeIR

2. Mandu/ HTg

3. Hoshangabad/ BTG

4, Bhopal/ yard

Correct Answer :-

« Bhopal/ HIOTd
21) If A = 1, FAT = 27, then FAITH =?/3f A = 1, FAT = 27, @ FAITH =?
1. 41

2.40



3.42

4.44

Correct Answer :-

22) Who was the Governor-General of Bengal when the Charter Act of 1813

was passed?/ T3 AfUFTH 1813 TIfYd 811 & THY e & MR- B U?
1. Warren Hastings/ﬂﬁ?%ﬁ‘ﬂ

2. Lord Minto I/ @Ts fHel uyH

3. Lord Cornwallis/@18 ®IHaierd

4. Lord WeIIesIey/Eﬁaﬁ@

Correct Answer :-

« Lord Minto I/Hﬁﬁiﬁqﬂ'ﬂf

23) When was Neemuch declared as a separate district?/ <1¥Hd &1 T& a1 forar
P9 Oifva fosar war ur?

1. 1996
2.1997
3.1995
4. 1998

Correct Answer :-
« 1998

24) When was the first white tiger spotted in Madhya Pradesh?/ A9 U #
UYH IR e 919 S S@T T 412

1.1918
2.1917
3.1915

4.1916

Correct Answer :-

« 1915



25) What is the currency of Israel?/ 3SRIIA 1 YT T 82
1. Togrog/ SRR

2. Rial/ R

3. Israeli Dinar/%x‘,rl?‘l%?ﬁﬁ"—ﬂ?

4. New Shekel/ 718 Qbal

Correct Answer :-

« New Shekel/ 7S Qb d

26) What is the maximum number of representatives of the Union Territories
can the Lok Sabha have?/ @&aHT & WY 37 &3 & Ul &1 sftrewaw Sem &
2

1. 20
2.15
3.21

4. 18

Correct Answer :-

27) What is the latitudinal spread of the state of Madhya Pradesh?/ Hed USRT
I F AT HT AR 18?2

1.21.2° N - 26.87° N/ 21.2° 3T - 26.87 ° I
2.24.2° N - 29.87° N/ 24.2° 3 - 29.87 ° I
3.23.2° N - 28.87° N / 23.2° 3R - 28.87 ° IR
4,22.2°N - 27.87°N/ 22.2° 3R - 27.87 ° I
Correct Answer :-

¢ 21.2°N - 26.87° N/ 21.2° 3R - 26.87 ° IR

28) Alirajpur and Jhabua are the two main centres for woodcraft./
AUAROTR RGN TSI & Ah! & T F H5 82

1. Barihaya/aTﬁ%?iﬂ

2. Gond/Ms

3. Bhil/Hta



4. Baiga/a'lTr

Correct Answer :-

. Bhil/Hi@

29) Which Buddhist Council was held at the Saptaparni Cave of Rajgriha?/
TOI[E &1 TEuRoll 6T § - Wt dig uie &1 mater fear mar 312

1. 4th /3rq
2. 2nd /emd
3.3M /s
4. 15Y ggit

Correct Answer :-

30) Which of the following animals are seen in the Bandhavgarh Tiger

Reserve?/ Si4die 919 JHIRYY A fFAyfafad shial & Q $19- I 3T oIt gear 82
1. None of the above/ IWRIad § 4 IS g1

2. Both of the above/ SWRIad gIHI

3. Sambhar/ 94’

4. Chital/ =ida

Correct Answer :-

o Both of the above/mﬁﬁ

31) Which of the following peaks have the highest elevation?/ fAufefad RraRi
# A fraet wat &S 82

1. Gasherbrum/ TIRRFH
2. Kanchenjunga/ &d-eiiT

3. Godwin Austin/ TTigfdq 3fied

4. Nanga Parvat/ 5 udd

Correct Answer :-

« Godwin Austin/ TTgfaq 3fffee



32) Which of the following fairs is held in the Bhamavad village?/ fFafefaa o
q BIF- 9T AT HHTGTE Mg # maford fasar sirar 82

1. Fair of Nagaji/ TSI &1 Har

2. Fair of Tetaji/ GRISICARES]

3. Fair of Hira Bhumia/%ﬂﬂ-‘[&lmﬁﬁw
4. Fair of Pir Budhan/ UR g &I Adl

Correct Answer :-

« Fair of Tetaji/ daroil &1 Hall

33) Which district was Bhopal carved out from in 19722/ 1972 ® Hiur for@r
PIH- T oA & s9Tar T 92

1. Sehore/ TR
2. Hoshangabad/ gI=ITETg

3. Betul/ oqd
4. Raisen/ I

Correct Answer :-

e Sehore/ “Eﬂ’sﬁ?

34) In how many ways can a man and a woman be chosen out of 10 men and

8 women?/ 10 T&Y 3R 8 Tfgansii & I T =W 3R T Afed b YoR J g4 o G&d
a2

1. 18
2. 80
3.40

4. 10

Correct Answer :-

35) Pardhauni is a popular dance-form among the community of - / qRen

DH- A TSI T BT Jd-E7 §2?
1. Gonds/‘ﬂ'_er
2. Bhils/ Yl



3. Saharias/IJgRag
4. Baiga/ ST

Correct Answer :-

« Baiga/ S

36) DIRECTIONS: Study the following information and answer the questions
given below:/ A1 : Fafefad SRt &1 sreaga w1 A= faw eyl & Iar difom)

M, N, P, R, T, W, Fand H are sitting around a circle at the centre, P is third to
the left of M and second to the right of T. N is second to the right of P. R is
second to the right of W who is second to the right of M. F is not an
immediate neighbour of P./ M, N, P, R, T, W, F 3lR H 3= Pl iR e frutas ga &
IS EIPMFPICATRRISRT FIAAGIIRIN,P FSTAGCRIEIR,W F ST A
GERTE Wl M F WA gERT ]| F,P &1 Fdvean usRA 181 81

Who is to the immediate right of P?/ P %ﬁwaﬁaﬁﬁ%?
1. Data inadequate/@ET&rCIﬂflﬂ

2.H

3.F

4.R

Correct Answer :-
« H

37) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘ﬂ: ﬂ%%qwmﬁw¢u=raﬁvwﬁ?
q1¢ 0 fAswd far e €1 smus! AT T Sy & I U= @ Ha € 9 dya 9l | i
wodta gia i | 9t st &) ufew fsr aa sifore f faw e et & @ w-ar fAsed fg 1o
FHYAI BT THIATd $U A SFEV Rl 8, IIe Faud a4 o W g

Statements: / ®Y:

All bulbs are birds./ ¥ 99, U&hi &1

Some birds are butterflies./ T3 Ueft, faadt g1

Conclusion:/ e

I. All butterflies are bulbs./ 94t faaferat, g &1

II. Some bulbs are butterflies./$S g9, faas €1

1. If neither conclusion I nor II foIIows/tﬁ?qﬁEb"GfI :réTII GENTUTW%



2. If only conclusion I follows/ Tfe FHae FHY I SHRUI BT §
3. If only conclusion II follows/ Tfc Had FsHY 11 SIERU BT §

4. If either conclusion I or II follows/ af¢ a1 G I AT 11 FJARUI BT §

Correct Answer :-

o If neither conclusion I nor II foIIows/?IﬁEQﬁFéﬁﬁfI :rébeI B@TUTW%

38) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fAc=r: 1 feu 7T v ¥ 5 Y= ik 39
a1 $o frepd fau e §1 3y AT 1T wy= & I AT @ YA 8 A Tdya aa ¥ i
wodta gia i | w9t st &) ufew fsr o sifere f faw e fArswut & @ w-ar fAsed feg e
HYHI BT AHTN U J SFEI Bl 8, e JawTd 9 o M g

Statements: /P Y:

All fruits are lions./ mﬂw, Tﬂ'\’%'l

All lions are foxes./ H‘l-ﬁ!ﬁ'\’, ?ﬁ'ﬂ%‘fﬁ%l

Some foxes are cats./$® amfsar, e €1

Conclusions:/ e

I. All fruits are foxes./9 ®d, Fwfear gl

II. Some fruits are cats./$® %d, fafemi €1

1. Either Conclusion I or II foIIows/HT?ﬁﬁf&b"EfI grI1 &WW%
2. Neither Conclusion I nor II foIIows/qﬁEbeI qBrII &aﬂwm%
3. Only Conclusion II follows/%ad fAthY 11 38R0 HRT §

4. Only Conclusion I foIIows/Wﬁ'Eb"GfI WW%

Correct Answer :-

e Only Conclusion I foIIows/Wﬁ'Eb"GfI B@TUTW%

39) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ'-'{r: ﬁ%%qwmﬁ'wmwaﬁvwﬁ?
1 $o Frepd fau e g1 sy AT T Sy &1 e AT @ YA 81 3 Tdga aa | i
udid gid 8 | It et @1 ufeu fibr au Fifeme & fau e faseul & F H9-ar1 faeed 2w e
FY BT AHETT TU I IR0 AT 7, IS Td9Td 9 $3 1 g1



Statements:/ ®Y:

All rivers are mountain./ qﬂ-ﬂqﬁ‘q“i’, tl%'lts'%'l

All forests are mountains./ 941 574, UgTS 81

Conclusion:/ﬁ'ﬁaﬂf:

I. Some rivers are forests./ $© Afeal, S &1

II. No forest is a river./ &I SiTd, T g g

1. If neither conclusion I nor II foIIows/?T%qﬁEb'ﬁfI JRIII &EINTUTW%
2. If only conclusion I foIIows/Zﬁ?WﬁEFEfI WW%

3. If only conclusion II foIIows/ﬁWﬁEb"ﬁfII HWW%

4. If either conclusion I or II follows/ Tfc ATl FISHS I AT 11 WW%

Correct Answer :-

. If either conclusion I or II follows/ af¢ a1 <l fsw® I AT 11 WW%

40) The Shakkar River is a tributary of — / Xa® Adl fra®! Teru® A1 82
1. Narmada/ 7THaT

2. Wainganga/aﬂ'l'i'fﬂ

3. Ganga/ T

4, Tawa/ ddl

Correct Answer :-

« Narmada/ Hﬁal

41) Which sports is Shivendra Singh associated with?/ Ridg RigFH-d@ad
Hafta 82

1. Kabaddi/ &egt

2. Cricket/ fohare

3. Badminton/ S3fted
4. Hockey/ HEdl

Correct Answer :-

« Hockey/ gt

42) The Nirala Srijan Peeth is a part of - / ﬁwmwtﬂzm YR 82



1. Bharat Bhavan, Bhopal/ HRd HdH, HaTd
2. Lok Kala Parishad/WWqﬁq@’

3. Kalidas Academy/ BTG 3fhTgH!

4. Ravindra Bhavan, Bhopal/ﬁ?ﬂ-ﬁ:{, HaTa

Correct Answer :-

« Bharat Bhavan, Bhopal/ YRd Had, Hiard

bal

{54% % 272 = aﬂ} ?

—1

44 1 1 1 5
) (100) 2 x (0.001)3 — (0.0016) 2 x 30 + (?1) =7

1.1.6
2.1.0
3.0.8

4.0

Correct Answer :-

45) How many pairs of letters are there in the word 'CREDIBLE' each of which has as many letters
between them in the word as in the alphabet?/R[eg 'CREDIBLE' i | GT&RBI & Qﬁ foaa qH % ISECY
o1 39 8 e1&R 3md 8, foraa sidisht quiaTen & omd 82

1. One/ Th
2. More than three/ a9 T 3(fd®
3. Nil/ ®Is gl

4. Two/ &



Correct Answer :-

« More than three/ a9 ¥ 3if%

46) Point P is 5Sm towards the South of Point M. Point Q is 3 m towards the East of Point P. Point O
is 3 m towards the East of Point M. Point N is 2m towards the South of Point Q. A person, facing
North, takes a left turn from point M, walks 4m and stops. He then takes another left turn, walks 5 m
and stops at point R. Which of the following points, including R, fall in a straight line?/ ﬁ"—g’ P, ﬁ"_g
M RO AR 5N WA RE | Rg 0, g PH T B iR 3 M. B g w21 Rg o, farg
M & qE R 3R 3. M. B g W AT Rig N, g Q H aRUT 8N R 2 M. A AR | v R
oRT®T 7@ IR $t 3R ¢ | fig M A I o 4 1. garar g iR T oar g | 8 i A ag
PR 5 Hl. Tadr g 3R fag R R ¥ Ara1 ? | =1 A 314 71 farg R ) 9fdifea #3d g
e Wt Ya ¥ e

1.Q, P, R
2.R, 0, Q
3.N, R, P
4.M, O, R

Correct Answer :-

47) CANCELLED

Excessive consumption of ethanol causes damage to the?/ WWE@H
fYF AG-T DI F 3T BT WG B BT 6

1. Lungs/ W@v‘qﬁ\a
2. Kidneys/ da&

3. Liver/ 9d

4. Heart/ gad

Correct Answer :-

« Liver/ d&d

48) CANCELLED
The element silicon is present in?/ Rifd®™ a<a fFaA SufRa g &:
1. Sand/ 4]

2. Limestone/ JATUIR
3. Salt/ «qup



4. Clay/ o

Correct Answer :-

49) CANCELLED

Indore is the  largest city in India./ s'a*lnm‘crm WWW%I
1. 11" /oRai

2. 9th /e

3. 10t / gHai

4. 8thy araai

Correct Answer :-

« oth /Frar
50) CANCELLED

During whose rule did Timur the Lame invade India?/ WW%W
AR A YRA W gHAT fHar?

1. Ghiyasuddin Tughlaq/ feR—MgE A qidd
2. Muhammad Shah Tughlag/ JeHq XTg JiIciP

3. Mohammad-bin Tughlaq/ g/ g&-fe= e
4. Firoz Shah Tughlag/ RIS 218 qiTeidh

Correct Answer :-

« Muhammad Shah Tughlaqg/ g <q XIg JTcidh

51) Enzymes are made up of?/ fa®3 fad a4 gd &2
1. Carbohydrates/ ®TEgRSC

2. Nucleic acids/ gfddd 3T
3. Amino acids/ 3/ 3l &

4. Fat / 941

Correct Answer :-

« Amino acids/ ST 3 B



52) In how many years will Rs.1,800 amount to Rs.2,178 at 10% per annum

when compounded annually?/f&aq auf # Rs.1,800 1 I 10% a1 Tergls At
PTG A Rs.2,178 T T2

1.2.5
2.3.5
3.2

4.3

Correct Answer :-

. 2

53) Jayesh is facing south, he turn right and walk 20 m. Then he turn right
again and walk 10m. Then he turn left and walk 10 m and then turning right
walk 20 m. Then he turn right again and walk 60m. In which direction is he

from the starting point?/ SO=I i30T #1 3R T fd gU B, 98 gt gsar @ 8k 20 Hiex
Taar 8 | f6 98 gt gear 8 8k 10 Hex gaar g1 fh g st gear @ ¢k 10 Hex gaar?
aﬁ?fﬁwa“rqasgw 20 Hiex gadr 3| fihY 98 ST gea1 @ 3R 60 Hiex aadr 81 98 WRfY® fig
9 foa femmd 32

1. East/ 11?:‘
2. North-East/ 3tTR-d
3. South-East/ a‘f\&mqj

4, North/ 3t

Correct Answer :-

« North-East/ B?R-qﬁ

54) Steel contains:/ S¥ITd & gldT &
1.0.1-2% carbon/ 0.1 ¥ 2% T Hla-
2. 5-10% carbon/ 5-10% % Bl

3. No carbon/ ®Te =18} gial

4. 20% carbon/ 20% d® PpTa

Correct Answer :-

« 0.1-2% carbon/ 0.1 ¥ 2% db Hle-



A train 300 metres long is running at a speed of 25 metres per second. It

will cross a bridge of 200 metres in:/T® 300 HieI ddl YerTS! 25 Hl/A. B 7fd A T4
g4 200 Wiz @t [Ae®wH &) IR $=4 § foa-n gug aft?

1.5 Seconds/ 5 Y&e

2. 10 Seconds/ 10 Jqdbs
3. 20 Seconds/ 20 Y&Hs
4. 25 Seconds/ 25 Yds

Correct Answer :-

« 20 Seconds/ 20 98

56) Chemically, cane sugar is?/ 3@, § fire areft b1 o1 H gl &
1. Lactose/ dderd

2. Fructose/ U@?ﬁﬂ
3. Sucrose/ W
4, Glucose/ W

Correct Answer :-

« Sucrose/ ghid

57) The ratio of two numbers is 10 : 7 and their difference is 105. The sum of
these numbers is: /3l TSI BT U 10 : 7 § 3R ITDT 3icR 105 B, A TBATAT BT AN
RIGET]

1. 805

2.1190

3.1610

4. 595

Correct Answer :-

« 595

58) The perimeter of two squares is 40 cm and 32 cm. The perimeter of a
third square whose area is the difference of the area of the two squares is:/

&1 T T IRATT 40 T TUT 32 A 3| §9 T & QTGB! P 3R P IRIER QTG a1 TP draw
it @1 ufewTy B

1.42 cm/42@ﬂ°f



2. 40 cm/40 IHt
3. 20 cm/20 IHt

4. 24 cm/24 JHt

Correct Answer :-

« 24 cm/24 Iw

59) If P's father Q is paternal uncle of B and A's husband M is paternal uncle
of P, then how is A related to B?/ afe P $fidrQ, B F a8 iR A #T1Ufd M, P &1
IraTg @ A, B 9 f5a yoR wafta 82

1. Can't be determined/3JTd g {1 ST Teba
2. Mother/ﬁf
3. Cousin/® o

4, Grandmother/alapf

Correct Answer :-

. Can't be determined/3Td T fdT ST Yabdl

60) DIRECTIONS: Choose the odd one out from the given alternatives./

frdar: feg e fyeedt & @ foww wreg gfAw:
1. OGRAGEPHY

2. LAMIA

3. DINHI

4, ENICSCE

Correct Answer :-
« LAMIA

61) DIRECTIONS: Arrange the following in a logical order: /3w A H &
3rdyuf w9 o syafRE w31

(i) Shoulder/ T
(ii) Wrist/ &ars
(iii) Elbow/ gt
(iv) Palm/ gdeht
(v) Finger/ 3Tl



1. (iii), (i), (iv), (ii), (v)
2. (iii), (iv), (v), (i), (I)
3. (v), (iv), (ii), (iii), (I)
4. (i), (iv), (v), (i), (1)
Correct Answer :-

« (v), (iv), (i), (iii), (I)

62) The sum of three consecutive odd natural numbers is 147, Then the

middle number is: /3¢ {1 T HUTTA faww wipa G=3ii &1 a1 147 7, d@F ata aret
Wﬁ"ﬁ

1. 49
2. 50
3.51

4. 48

Correct Answer :-

63) While finding the average of 10 given numbers a student, by mistake
wrote 64 in place of a number 46 and got his average 50. The correct
average of the given numbers is:/ Wﬁ%ﬁtﬁ\‘ﬁ 10 ﬁwﬁmeﬁwmm%, a
T F BRUT 46 b JUT R 64 foRg a1 8, YT 3RIT 50 YT Bl 8] Wl 3N F1d Piforg|

1.48.2
2.49.1
3.49.3

4.48.5

Correct Answer :-

64) The first surgical transplant of the human heart was performed by?/ §ad

BT UYH YR fras gRT fosar war ur?
1. Gerhard Hensen/ T&g g-1a

2. Joseph Lister/ Sw forex

3. Christian Barnard/ {30 s1



4. William de Vries/ faferow St aftg

Correct Answer :-

« Christian Barnard/ ffaa= sig

65) The cost price of 12 articles is equal to the selling price of 8 articles. Find
the profit/loss percent./ 12 a¥g3ii &1 AR 4, 8 aeg3N @t fIsvd Ted & R B
Ty, g1 wfa=ra gra sifeg|

1. 30%
2. 50%
3.40%

4, 20%

Correct Answer :-

« 50%

66) The pH of human blood is amount?/ HIHd Y& &1 pH HHE FT g1 82
1.3

2. 12

3.6

4.7.5

Correct Answer :-

67) A shopkeeper mixes two varieties of rice purchased at the rate of Rs. 35
per kg and at the rate of Rs. 28 per kg respectively. If he sells the mixture at
the rate of Rs. 36 per kg and gains 20%, then the ratio in which the two
varieties are mixed is:/ U® gHER &l UHR & ATTAl DI HHI: 35 ©./[HUT. 3R 28 F./
frur. 9 @ @ Tdiar 2| I 98 39 FIyor Y 36 ./ F3. SaT 2,8) 20% BT AT YT ST 8|
o1 &1 3rguTa P 8, o i gl o e g 2

1.5:3
2.4 .7
3.2:5

4.7 : 4

Correct Answer :-



68) What would be the simple interest obtained on an amount of Rs.6,535 at
the rate of 10 % per annum after 6 years?/6 94 dI¢ 10 % 41y IS $1 &3 I
6,535 . @I MR W AIYRT 1T fba=n famm?

1. Rs.3414
2. Rs.3149
3. Rs.3807

4, Rs.3921

Correct Answer :-

« Rs.3921

69) Maize grain is?/ Ha® &I ST HT gIdT 872
1. Fruit/ Td

2. Embryo/ T 3{ST

3. Seed/ U dil

4. Ovule/ WE%HUS’

Correct Answer :-
e Fruit/ ®d

70) The HCF and LCM of two numbers are 13 and 455 respectively. If one of
the numbers is 65, then other nhumber is:/ ﬁﬂ'@T\?ﬁﬁqﬂ.aﬁ.ﬁ. PHRT: 13 dYUT

455 g1 afe TH WWAT 65 7, d gal IBAT 3:
1.91

2. 104

3.78

4,117

Correct Answer :-

71) From which part of the plant is turmeric, a commonly-used colorant and
antiseptic, obtained?/ gl & WY BT HIFET U JHTIG: TH, 1 TR ot a8
SUHNT {5 wrar 82



1. Fruit/ ®d
2. Stem/ -1l

3. Flower/ Y&
4. Root/ SIg

Correct Answer :-

e Stem/ d-Il

72) Echoes are produced due to?/ 3ITaTs el € Fifdb:

1. Reflection of sound/ €& & TRTad & HRUI

2. Polarization of sound/ EIEE W%W
3. Refraction of sound/ @ & 3Udd- & BRI
4. Diffraction of sound/ tafa & fagd & HRUI

Correct Answer :-

« Reflection of sound/ tafq & TRTadT P BRI

73) Which of the following plant hormones controls fruit ripening?/ Fad 3
DI UTGY THI Wl B g BT k=01 Ham &'

1. Ethylene/ TyTSfeH

2. Zeatin/ forafe

3. Auxins/ 3NfRT

4. Gibberellic acid/ fiTsRfere 3w

Correct Answer :-

« Ethylene/ Yo

74) Which of the following has equal periods of rotation and revolution?/ IBL]

H Q foraeT guia auT ufehHvr &1 999 U6 T9HE 8T 3:
1. Mercury/ g4

2. Uranus/ a0l

3. Venus/

4. The moon/ TgHT

Correct Answer :-



« The moon/ Tl

75) Which of the following waves/rays are produced by nuclear changes in

the atom?/ 19 & & 34t frzoy a1 9371 I gt & oI ) & Arfes ufvad= ghar &
1. y-rays/ TITHT fh=0f

2. Infra red rays/ 37eRad favuf

3. X-rays/ &9 foxuf

4. Light waves/ U a¥il

Correct Answer :-

« y-rays/ TIHI {0l

76) Which of the following is the proper sequence of colours?/ 3 &1 Hgl HH

a?nsﬁ:

1. Red, green, yellow/ dTd, &XI, dtar
2. Blue, green, yellow/ =id, &1, diar
3. Green, violet, red/ &I, aﬁT:ﬂ, ord
4. Violet, blue, red/ ST, =fterr, @ma
Correct Answer :-

» Blue, green, yellow/ =ﬂF1T, B, i

77) Which of the following is abundantly available in the Sea and
administered in a certain deficiency disease?/ 5 ¥ &9 Iqx ® yeR A= &
SURIT gIT § U1 TPt HHI A AT & 7 o gl &'

1. Vitamin A/ fgerfiT A
2. Iron/ Fﬁ%T

3. Fluorine/ Eﬁéﬁﬁ?

4. Iodine/ 3mafe

Correct Answer :-

« Iodine/ SmafeT

78) What is chromosome number in a human ovum?/ A4 38T ¥ foha= URE
LIRS G+



1. None of these/ SWRIgdH I qﬁé-‘-@‘f
2.23
3.46

4.48

Correct Answer :-

79) The density of sea water increases as?/ I Id HT U 9T g oIS

1. Depth decreases and salinity increases/ 7Tgx éﬂﬁ%amaﬁ%

2. Depth increases and salinity decreases/ TeTs d@dﬁl%‘d AqUIdT HH Bl &
3. Depth and salinity decreases/ TgxTs d AdUIdT HH Bl &

4, Depth and salinity increases/ Tﬁﬂﬁﬁmﬁaﬁ%

Correct Answer :-

« Depth and salinity increases/ TExTS 9 AaUIdT GIHI 9GaT &

80) Pawan and Raman started a business by investing Rs.18000 and
Rs.25200 respectively. What is the share of Pawan in the profit of Rs.8640
earned at the end of the year?/9a- 9 I %HI: Rs.18,000 d Rs.25,200 faw
FYP TP qAIHNI Y= $Rd & | 99 & 3id T aTH Rs.8640 g | U= T A1y | fa=qan fara=n

ghm?

1. Rs.3100
2. Rs.3600
3. Rs.2700

4. Rs.3250

Correct Answer :-

81) In which part of India does saffron grows?/ YR F SR URT H ST T
CIGIESE

1. Jammu and Kashmir/ S/ d HIER &7
2. Darjeeling district/ grfoifeiT forar
3. Nilgiri Hills/ @R ugifsar

4. Madhya Pradesh/ H&0 UGl



Correct Answer :-

« Jammu and Kashmir/ S d HIER &5

82) If M% of x is y and N% of y is x, then:/af¢ x $TM% y & 3Ry FTN% x 3,
d4-

H
1. ¥ =100

N
2. M =100

3. MN = 10000

4 M+ N=100

Correct Answer :-

« MN = 10000

83) Where is the invisible number in the two positions of the same cube?/ T&%

B o9 &t & fufoal & srexy e #gl 82

© @

1. Opposite of 3/3 & fAu:id

2. Opposite of 2/2 & famda
3. Opposite of 5/5 & fomid
4. Opposite of 6/6 & fauRid

Correct Answer :-

« Opposite of 2/2 & f[aaia

84) The global human population by 2100 AD is expected to rise t0o?/2100 CL
% AP AT TRIe frat gF 3T guH §:

1. 7 billion/ 700 #XIS
2. 4 billion/ 400 TV
3.5 billion/ 500 RIS
4. 8 billion/ 800 IRIS

Correct Answer :-



. 8 billion/ 800 BRI

85) One feels cold after a dip in sea water due to?/ Wﬁ@gﬂﬁﬂ"ﬁ%ﬁ
SAT® 38 Tl ¢ Flfb?

1. Convection currents/ Idg- U=l & HRUI

2. The difference in temperature between land and sea/ @aw%nwwﬁ&m
& BRI

3. The deposition of salt on the body/ X IR W TS BT HA&YU Gl ST & BRI

4. The evaporation of water on the body/ IRR T 5 BT AT HR0T BT STl &

Correct Answer :-
. The evaporation of water on the body/ YRR I Sd HT ITHT 1 STl &

86) A and B can do a piece of work in 10 days, B and C can do it in 12 days. C
and A in 15 days. In how many days will c finish it alone?/A 3R B frft o B
10fe T d, B sk c 12 et A aur € 3R A 15 A1 # Sy I B, @ C 3rbar &1 &I fora
e & wqm ewm?

1. 30 days/ 30 fea
2. 24 days/ 24 f&A
3. 60 days/ 60 faq

4. 40 days/ 40 f&A

Correct Answer :-

« 40 days/ 40 f&q

87) A and B together can do a piece of work in 12 days, While B alone can
finish it in 30 days. A alone can finish the work in how many days?/ A 3R B

e fddl w1 12 R & FY APd §1 FafP B P a1 39 B &1 30 fe-) & I B
JPAT, dl A AP AT 39 PTH B! fbdd fa= & THTE B2

1. 25 days / 25 fe
2. 15 days/ 15 &4
3. 20 days / 20 &A1
4. 18 days/18 fad

Correct Answer :-

« 20 days /20 faq



88) How many squares are there in the given figure?/ zﬁné swﬁﬁﬁmﬁﬁ%?

1.10
2.7
3.8

4.12

Correct Answer :-

89) Pencil ‘lead’ is called?/ 71U & A fd U as Wt w1 SaT 82
1. Charcoal/ IR®IA

2. Graphite/ ‘jﬂﬂ%—c’

3. Manganese dioxide/ T ST RISS

4. Lampblack/ QLA

Correct Answer :-

« Graphite/ ‘BITFIET:’

90) Who is credited with the invention of X-Rays?/ &d-f&=uil &1 sfaspR® H9

2

1. W.L. Bragg/ dl. Gaf. s71

2. Wilhelm Rontgen/ ﬁ@ﬁﬂﬁ\_ﬂ
3. Kamerlingh Onnes/ $HRfcY 39
4. Nikola Tesla/ @I ce

Correct Answer :-

« Wilhelm Rontgen/ facee o

91) A electric bulb has a filament made of?/ U@ faed 9e9 &1 dg fHa®1 g1 g

?
1. Iron/ Fﬁ%T



2. Lead/ K
3. Copper/ didl

4. Tungsten/ ¢

Correct Answer :-

« Tungsten/ TR

92) In the given figure, O is the center of the circle and £ACB = 30°. Find
<AOB./fRT TR R ¥, O 94 T F= & 9YT 2ACB = 30° g, dl LAOB BT HH JTd I

1. 90°
2. 60°
3.30°

4. 50°

Correct Answer :-

. 60°

93) If water in a lake were to behave like other liquids, then in extremely
cold weather it would freeze?/ afe sia &1 5 &R ATHNI 5a 3 Yifd TaER vE@dT §
a9 3cdd 38T g1 R U STH:

1. From top to bottom/ 3R I A
2. From bottom to top/ TRAIR
3. Simultaneously through the depth/ @‘ g8 H U 91y

4. First on the surface, bottom and sides and then in the interior/ Ugd Idg, dd adl
NG ICEE

Correct Answer :-
« From bottom to top/ TRIAFIWR

94) A truck covers a distance of 550 meters in 1 minute, whereas a bus
covers a distance of 33 km in 45 minute. The ratio of their speed is:/ Th ¢P 1



firTe ® 550 Tiex @1 gt au HRar 3, J9fF e o9 33l Ft gt 45 e A @@t g1 o
TYT T DI T BT TUTd I |

1.3:4
2.2 :1
3.2:7

4.3:5

Correct Answer :-
e« 3:4

95) The numerical value of the profit % is equal to the cost price of a book,
on selling it at Rs.96. So, how much profit is there on selling it?/ U foare
P Rs.96 T a9 A ot Ufa=ra A1y gia1 8, IHPT G=ATHS HF 39 fHhde & 59 Jou & aRIaR
21 39 frare &1 31 | fan =0l &1 a1y gam?

1. Rs.30
2. Rs.36
3. Rs.26

4. Rs.60

Correct Answer :-

« Rs.36

Correct Answer :-

« 102

97) A hydrophyte is?/ T® gI3SIBISC BlAT 3
1. An aquatic plant/ T& Slaiig Ureg



2. A plant disease/ U g1gy T
3. A rootless plant/ U ¢S deiF urgu
4. A marine animal/ Wﬂ'ﬂ?ﬂﬂﬁﬂ

Correct Answer :-

« An aquatic plant/ T& Seild Urgy

98) Find the length of the longest rod that can be placed in a hall of 10m

length, 6m breadth and 4 m height./ 10 HicX @aTg, ¢ HieT ASTE qUT 4 HeX FAS
qTel TP HHY W W] O Hh - a1l Had ddl B8 DI daTg Jq1d B9

1. 2V18 m/2**f’E .
2. 2V38 m/2fﬁ .
3. 4V38 m/4fﬁ .
4, 3Mﬁ m/3*\fﬁ .

Correct Answer :-

99) If '+’ stands for ‘x’, ‘X" stands for '+’, -’ stands for '+’ and ‘= ' stands for *-’, what would be
the value of the given equation./ Tfe *+’ &1 3 & *x’, ‘x'&T A '+, *-" &1 3 g '+ 3R '+ oy 3
? -, feu ¢ g &1 WA T gh )

20-8x4+3+2=?
1.41
2.19
3.16

4. 18

Correct Answer :-

. 16

100) LS I 2_5,3_17 11, 1

. 5wr;en§ 4 5 ¢isdividledby® % 5 1Ztheresultis:/SigZ ¢ 5 & @I
575 5 1o favifore R w2, @ ufom &

1.2.2

2.3.5

3.4.8



4.5.1

Correct Answer :-



